IB Math 3: Remainder of Taylor Polynomial Name:

Warm Up: Centeruel ok 0

1) Find the first five terms of the Maclaurin series for (1+x)".
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2) Using the series above, find the lllr:‘st Iwe)terms of the ]gngver ser!es for f(x)=/1+x
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f(x)=T,(x)+ R, (x) where T,(x) is a Taylor polynomial approximation and R, (x) is the remainder.

Taylor’s Theorem R, (x)

If a function f(x) is differentiable through order n+1 in an interval (I) containing c, then for each x in I, there exists z between x and ¢ such
that
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1. The A/f@fm' sinx is M,(x)=x— ETh Use Taylor’s Theorem to approximate sin(0.1) and determine the accuracy by the
. e

Taylor’s theorem R (x).
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2. Using fv@for f(x) =e", estimate e and determine the accuracy by the Taylor’s theorem R, (x) .
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Discuss the concept and help one an you nce your complete this, get a stamp from Mrs. Shim.

1. Write down two major formulas which were introduced related to Taylot's remainder theorem.

2. Demonstrate your understanding of the Taylor's remainder theorem using words and diagram (graphs).



